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Christmas Addition and Subtraction
Solve the following word problems.

1 Santa Claus has 4500 candies. He gave 1250
candies to the children in the first town and 850
candies to the children in the second town. How
many candies does Santa have left?

2 Santa Claus made 6800 toys. He gave 2100 toys to
the children in the first city and 1500 toys to the
children in the second city. How many toys does
Santa have left?

3 Mrs. Claus baked 5200 cookies. She gave 1500
cookies to the elves and 2000 cookies to the
reindeer. How many cookies are left?

4 The elves made 7500 ornaments. They used 3200
red ornaments and 2100 blue ornaments. How
many ornaments are left?

5 Santa's sleigh can carry 9000 presents. He
delivered 3500 presents in the first town and 2100
presents in the second town. How many presents
can Santa still carry in his sleigh?

6 Santa received 8000 letters from children. He read
2200 letters on the first day and 1500 letters on the
second day. How many letters has Santa not read
yet?

7 The elves made 7000 toys. They packed 2500 toys
in the first box and 1800 toys in the second box.
How many toys have not been packed yet?


